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Whose weight is more

 Aakash, Madhurima, Parag and Anuradha went to play in a park nearby. Aakash
and Madhurima got up on the see-saw. Madhurima could not lift up Aakash even
though she tried very hard. Can you tell why? This time Anuradha sat behind
Madhurima and now they could lift up Aakash on the see-saw.
Let us remember
In a balance, the plate having heavier objects comes down and the plate having
lighter objects goes up.

Which is heavier and which is lighter

Lesson-10 Weight

Cop
yr

ig
ht

-S
CERT, A

ss
am

 

 n
ot

 to
 b

e 
re

pu
bl

ish
ed

Cop
yr

ig
ht

-S
CERT, A

ss
am

 

 n
ot

 to
 b

e 
re

pu
bl

ish
ed



98

Put a ( ) on the heavier thing

Cop
yr

ig
ht

-S
CERT, A

ss
am

 

 n
ot

 to
 b

e 
re

pu
bl

ish
ed

Cop
yr

ig
ht

-S
CERT, A

ss
am

 

 n
ot

 to
 b

e 
re

pu
bl

ish
ed



99

Guess the weight of the objects given below. Use a balance to find out
whether your guess was correct.
Instruction to the teacher : Teacher will help the students to do the activity using a simple balance
and weights of 10 gram, 20 gram, 50 gram, 100 gram etc. The students will guess the weights of the
objects and write in the table below and then measure the objects with a balance to find correct
weight.

Write your measurements in the table below

Eraser
Duster
Bowl
Spoon
Glass
Pencil Box
Pen
Marble
Bangle

Objects             Weight (your guess)                   Weight
                                                               (Actual Measurement)
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Put a tick [ [ [ [ [ ] ] ] ] ] in the objects which are sold by measuring and a cross [[[[[‚‚‚‚‚]]]]]
in the objects which are sold without measuring

×

Let us remember

1 kilogram ‘ 1000 gram

3 kilogram =                 gram

2 kilogram ‘ 2000 gram
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Let us make 1 kilogram of the following things without using weights

toothpaste
50 gram

tea packet
250gram

powder tin
100gram

soap 200
gram

3 bars of soap  +  4 tins of powder  =  1 kilogram

200 grams +200 grams + 200 grams + 100 grams + 100grams + 100 grams +
100 grams  = 1 kilogram

1 packet biscuit + ..........tins of powder = 1 kilogram

........................   + .................................. = 1 kilogram

 ......tubes of toothpaste + ........tea packet = 1 kilogram

.....................................   +  ..................... = 1 kilogram

.............bars of soap

............ + ............. + ........... + .............. + = 1 kilogram

 ...............packet of tea

............. + ..................+ ..............+ ........... = 1 kilogram

biscuit packet
500 gram
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Find the total weight of the following objects

‘     1000 gram

‘     .....................

‘     .....................

‘     .....................

‘     .....................

500 gram     500 gram

200 gram 100 gram

250 gram 250 gram

250 gram 100gram

1 kilogram 2 kilogram
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Fill the correct weight so that the scale remains balanced

700gram 2
kilogram

200gram 2
kilogram

100 gram 2
kilogram 100 gram 3

kilogram

250 gram 75 gram 250 gram 100 gram

800gram 2
kilogram

4
kilogram

200 gram

100gram
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Add

(a) 20gram + 10gram               = ..............gram

(b) 50 gram + 20gram              = ..............gram
(c) 25kilogram + 11kilogram  = ..............kilogram

kilogram  gram
  4 50

    +  6 30

kilogram  gram
  2 100

+ 5 300

kilogram  gram
  5 60

+ 3 30

(b) (c)(a)

kilogram  gram
 31 20

+ 70 30

kilogram  gram
 10 30

+ 15 22

kilogram  gram
60 27

+ 35 44

(e) (f)(d)

kilogram  gram
 5 170

– 2  50

kilogram  gram
  7 400
– 4 200

kilogram  gram
10 200

– 8 100

(b) (c)(a)

kilogram  gram
5 125

– 2 100

kilogram  gram
15 30

–10 22

kilogram  gram
 78 22

– 27 05

(e) (f)(d)

Subtract

Add
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Solve the problems

(a) If 40 kilogram of potato are divided with 5
kilogram in each part.How many parts of
potatoes are there?

(b) 25 kilogram of masur dal is divided equally
into 5 parts. How many kilogram of masur dal
will be there in each part?

(c) Aayan's father bought 5 kilogram of rice, 2
kilogram of sugar, 1 kilogram of onion from the
market. Find the total weight of the things bought
by Aayan's father.

(d) From a sack of 50 kilogram of rice, a cook used
15 kilogram of rice on the first day, 17 kilogram
on the second day and 12 kilogram on the third
day for preparing the mid-day meal. How many
kilogram of rice is left in the sack?

(e) Rehena's father sells 5 kilogram of potatoes
everyday from his farm. How many kilogram
of potato will he sell in 1 week? How many
kilogram of potato will he sell in the month of
January?

(1 week = 7 days, January month is of 31 days)

)5   40
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(f) Kaveri's weight is 36 kilogram 500 gram. Her
younger sister's weight is 31 kilogram 20 gram.
What is the total weight of both of them. How
much less is the weight  of her sister then
Kaveri?

(g) Pranab's aunt bought mangoes and guavas
weighing 4kg 500gm. If the weight of guava is
2kg 250gm. What is the weight of the mangoes?

(h) Haridhan has 30kg 250gm of sugar in his shop.
He sold 25kg 120gm. How much sugar is left
in his shop? Haridhan again brought 17 kilo-
gram 500 gram sugar to his shop. How much
sugar will be there in the shop?

(i) During Magh Bihu Ramal's father caught 23kg
of fish from his pond. He distributed 2 kilo-
gram of fish to 9 families of the
neighbourhood. How many kilogram of fish
Ramal's father kept for own family?

(j) Madhu brought 1 kg rice from the shop. His
mother made 40 ghila pitha out of it. How many
kilogram of rice will be required to make 120
pithas?
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